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Section A Very Short Answer Type Questions

1. Transformation the equation

 into 


slope intercept form

4x + 3y + 12 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sq5nkJH5SFl0


Watch Video Solution

2. Transform the equation 

into intercept form.

Watch Video Solution

4x + 3y − 12 = 0

3. Find the perpendicular distance from the

point (3,4) to the straight line:

.

Watch Video Solution

3x − 4y + 10 = 0

https://dl.doubtnut.com/l/_sq5nkJH5SFl0
https://dl.doubtnut.com/l/_GUlOJIfPvXpc
https://dl.doubtnut.com/l/_4aIbILzGd0fk


4. Find the coordinates of the vertex 'C' of

 if its centroid is the origin and the

vertices A,B are (1,1,1) are (-2,4,1) respectively.

Watch Video Solution

ΔABC

5. Reduce the equation 

of the plane to the normal form.

Watch Video Solution

x + 2y − 3z − 6 = 0

https://dl.doubtnut.com/l/_4aIbILzGd0fk
https://dl.doubtnut.com/l/_evs4cnrZwkyQ
https://dl.doubtnut.com/l/_knFfmiBSm0Ne
https://dl.doubtnut.com/l/_pSK8ciswvyu2


6. Compute the limit of 

Watch Video Solution

Ltx→ 3
x2 − 8x + 15

x2 − 9

7. Compute .

Watch Video Solution

Lim
x→ ∞

x2 − sinx

x2 − 2

8. Find the derivative of the function

. Also

prove that .

h id l i

f(x) = 2x2 + 3x − 5  at x = − 1

f' (0) + 3f' ( − 1) = 0

https://dl.doubtnut.com/l/_pSK8ciswvyu2
https://dl.doubtnut.com/l/_Rkd6VNBCwriS
https://dl.doubtnut.com/l/_RhE813AA0t1j


Watch Video Solution

9. If  find 

Watch Video Solution

x = a cos3 t, y = a sin3 t,
dy

dx

10. Find  and dy if 

 and 

Watch Video Solution

(Δy)

y = 5x2 + 6x + 6, x = 2 Δx = 0.001

https://dl.doubtnut.com/l/_RhE813AA0t1j
https://dl.doubtnut.com/l/_Fkv84LdWgUfi
https://dl.doubtnut.com/l/_miEd5ftL24rl


Section B Short Answer Type Questions

11. Verify the conditions of Lagrange's mean

value theorem for the function  on [2,3]

Watch Video Solution

x2 − 1

1. If the distance from 'P' to the points (2,3)

and (2,-3) are in the ratio 2:3, then find the

equation of the locus of P.

Watch Video Solution

https://dl.doubtnut.com/l/_7c0IbR5zIbsp
https://dl.doubtnut.com/l/_UJGLHWhSv1pf


2. When the origin is shifted to (-1,2) by the

translation of axes, find the transformed

equation of 

Watch Video Solution

2x2 + y2 − 4x + 4y = 0

3. Find the points on the line 

which are at a distance of 5 units from the

point (3,2).

Watch Video Solution

3x − 4y − 1 = 0

https://dl.doubtnut.com/l/_UJGLHWhSv1pf
https://dl.doubtnut.com/l/_GMsbWgAfKGFf
https://dl.doubtnut.com/l/_5rgjLOOiViUR


4. 

Watch Video Solution

ltx→ 0
x sina − a sinx

x − a

5. If , then find f'(x) by

first principle.

Watch Video Solution

f(x) = sec 3x(x ∈ R)

6. Find the lengths of subtangent and

subnormal at a point on the curve

https://dl.doubtnut.com/l/_uUzZ3Wp3ieHo
https://dl.doubtnut.com/l/_vfhK5pcyXCS6
https://dl.doubtnut.com/l/_EciqIHkWKkut


Section C Long Answer Type Questions

Watch Video Solution

y = b sin( )
x

a

7. The volume of a cube is increasing at a rate

of 9 cubic centimetres per second. How fast is

the surface area increasing when the length of

an edge is 10 centimetres ?

Watch Video Solution

https://dl.doubtnut.com/l/_EciqIHkWKkut
https://dl.doubtnut.com/l/_DRxXGOmFzsFM
https://dl.doubtnut.com/l/_BgQP4AdWfHTm


1. Find the orthocentre of the triangle whose

vertices are 

Watch Video Solution

( − 5, − 7), (13, 2), ( − 5, 6)

2. If 

represents a pair of lines then prove that 

.

Watch Video Solution

ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

△ = abc + 2fgh − af 2 − bg2 − ch2 = 0

https://dl.doubtnut.com/l/_BgQP4AdWfHTm
https://dl.doubtnut.com/l/_fmGoleyRjouq


3. If 

then 

Watch Video Solution

ax2 + 2kxy + by2 + 2gx + 2fy + c = 0

=
dy

dx

4. Find the angle between the lines joining the

origin to the points of intersection of the

curve  and

the line 3x-y+1=0.

Watch Video Solution

x2 + 2xy + y2 + 2x + 2y − 5 = 0

https://dl.doubtnut.com/l/_dcAw6DtNgP7g
https://dl.doubtnut.com/l/_qasFPi3IZIjC
https://dl.doubtnut.com/l/_GMW87JufAZ7k


5. Show that the lines whose d.c's are given by

l + m + n = 0,2mn + 3nl - 5ln = 0 are

perpendicular to each other.

Watch Video Solution

6. If 

then find .

Watch Video Solution

y = tan( − 1)( )
√(1 + x2) + √1 − x2

√1 + x2 − √1 − x2

dy

dx

https://dl.doubtnut.com/l/_GMW87JufAZ7k
https://dl.doubtnut.com/l/_rZFKDqyIqH1x


7. Find the angle between the curves

Watch Video Solution

y2 = 4x, x2 + y2 = 5

8. From a rectangular sheet of dimension

, four equal squares of side x cm.

are removed at the corners, and the sieds are

then turned up so as to form an open

rectangular box. 

30cm × 80cm

https://dl.doubtnut.com/l/_eQqLjQHTDyvB
https://dl.doubtnut.com/l/_WGtwk4k3qF38


Find the value of x, so that the volume of the

box is the greatest.

Watch Video Solution

https://dl.doubtnut.com/l/_WGtwk4k3qF38

